

TO VALIDATE, GO TO Certificate Number: GI-COO-57573-67c8a2b993928

**VERIFY.FTGS.US** Date: March 05, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES	
Irvine CA USA	Destination Country China	Destination Port TianjinXingang	
Consignee	Export Date 2025-02-27	Exporting Carrier N/A	
HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401510083612	
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,535bales Total: 657.105mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.519mt	United States
Marks: EGSU9766483 52bales		
Alfalfa Hay	22.017mt	United States
Marks: GAOU6247555 52bales		
Alfalfa Hay	22.208mt	United States
Marks: EGSU9630434 52bales		
Alfalfa Hay	22.253mt	United States
Marks: TXGU8326305 52bales		
Alfalfa Hay	21.972mt	United States
Marks: TGBU9928006 52bales		
Alfalfa Hay	21.763mt	United States
Marks: TIIU4248303 52bales		ZXXXXX
Nfalfa Hay	22.471mt	United States
Marks: EISU8587260 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-57573-67c8a2b993928

**VERIFY.FTGS.US** Date: March 05, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
Irvine	Destination Country	Destination Port
CA	China	TianjinXingang
USA		
Consignee	Export Date 2025-02-27	Exporting Carrier N/A
NNER MONGOLIA BEST HOLSTEINS CO., LTD IUTONGTU VILLAGE, SHENGLETOWN IELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401510083612
NNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,535bales Total: 657.105mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
Alfalfa Hay	22.281mt	United States	
Marks: TIIU6311302 52bales			
Alfalfa Hay	22.834mt	United States	
Marks: GAOU7281446 52bales			
Alfalfa Hay	22.516mt	United States	
Marks: GCXU6543230 52bales			
Alfalfa Hay	21.246mt	United States	
Marks: EGHU8510195 52bales			
Alfalfa Hay	21.936mt	United States	
Marks: EGSU9501015 52bales			
Alfalfa Hay	20.512mt	United States	
Marks: FFAU4874136 50bales		XXXXX	
Nfalfa Hay	22.308mt	United States	
Marks: EMCU8326520 52bales			



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-57573-67c8a2b993928

**VERIFY.FTGS.US** Date: March 05, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES	
Irvine CA USA	Destination Country China	Destination Port TianjinXingang	
Consignee	Export Date 2025-02-27	Exporting Carrier N/A	
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401510083612	
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,535bales Total: 657.105mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.852mt	United States
Marks: TGBU6968134 52bales		
Alfalfa Hay	20.965mt	United States
Marks: TIIU5458120 48bales		
Alfalfa Hay	21.156mt	United States
Marks: EMCU9944267 49bales		
Alfalfa Hay	22.743mt	United States
Marks: TXGU8326310 52bales		
Alfalfa Hay	22.725mt	United States
Marks: TGBU6926376 52bales		
Alfalfa Hay	20.884mt	United States
Marks: EISU8510171 48bales		
Alfalfa Hay	21.219mt	United States
Marks: EGSU1217770 49bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.



TO VALIDATE, GO TO Certificate Number: GI-COO-57573-67c8a2b993928

**VERIFY.FTGS.US** Date: March 05, 2025

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES	
Irvine CA USA	Destination Country China	Destination Port TianjinXingang	
Consignee	Export Date 2025-02-27	Exporting Carrier N/A	
INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY	Import Permit Number N/A	Bill of Lading / AWB 401510083612	
INNER MONGOLIA, 011500 China	Owner or Agent N/A	Forwarding Agent N/A	

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

Remarks Total: 1,535bales Total: 657.105mt



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.9mt	United States
Marks: TGBU6936543 52bales		
Alfalfa Hay	20.992mt	United States
Marks: EGSU9301660 48bales		
Alfalfa Hay	22.698mt	United States
Marks: TGBU4359437 51bales		
Alfalfa Hay	22.743mt	United States
Marks: EGSU1044186 52bales		
Alfalfa Hay	21.147mt	United States
Marks: TLLU4056370 50bales		
Alfalfa Hay	22.108mt	United States
Marks: OCGU8042180 50bales		
Alfalfa Hay	21.011mt	United States
Marks: EISU8292737 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading LOS ANGELES
rvine CA USA	Destination Country China	Destination Port TianjinXingang
onsignee	Export Date 2025-02-27	Exporting Carrier N/A
ONSIGNEE NNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY INNER MONGOLIA, 011500 China	Import Permit Number N/A	Bill of Lading / AWB 401510083612
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

INNER MONGOLIA BEST HOLSTEINS CO., LTD HUTONGTU VILLAGE, SHENGLETOWN HELINGEER COUNTY **INNER MONGOLIA, 011500** China

greater irvine chamber Destination Irvine Economic Development

Remarks Total: 1,535bales Total: 657.105mt



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	22.072mt	United States
Marks: EMCU1556706 52bales		
Alfalfa Hay	22.054mt	United States
Marks: EITU1790794 52bales		
end of products	====	
		THAT WAS
	N WWW MARKETH	XXXX
	VIVINA DATA DATA	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

  -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

  -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

# GI-C00-57573-67c8a2b993928/March 05, 2025

### Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

### **COMMERCIAL INVOICE**

Invoice No.

BH-202502005

1/7/25

Date:

Shipper/Exporter:

Vessel:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA **Consignee:** 

**Contract No.:** 

**Booking No.:** 

Discharge:

ETA:

**Country of Origin:** 

INNER MONGOLIA BEST HOLSTEINS CO.,LTD HUTONGTU VILLAGE,

BH-HGLC2025-1

401510083612

TianjinXingang, China

USA

3/29/25

SHENGLE TOWN,
HELINGEER COUNTY,
INNER MONGOLIA

EVER MEMO

**Voyage No.:** 1387-003W

**Shipping Line:** Evergreen

Port of Loading: LOS ANGELES, CA

**ETD:** 2/27/25

Price Terms: CIF

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
EGHU8510195	A1528910	Alfalfa Supremi	52	21.246	\$395.00	\$8,392.17
EGSU1044186	722335	Alfalfa Supremi	52	22.743	\$395.00	\$8,983.48
EGSU1217770	722381	Alfalfa Supremi	49	21.219	\$395.00	\$8,381.51
EGSU9301660	722386	Alfalfa Supremi	48	20.992	\$395.00	\$8,291.84
EGSU9501015	A1528909	Alfalfa Supremi	52	21.936	\$395.00	\$8,664.72
EGSU9630434	A1528404	Alfalfa Supremi	52	22.208	\$395.00	\$8,772.16
EGSU9766483	A1528410	Alfalfa Supremi	52	21.519	\$395.00	\$8,500.00
EISU8292737	0668092	Alfalfa Supremi	52	21.011	\$395.00	\$8,299.34
EISU8510171	722390	Alfalfa Supremi	48	20.884	\$395.00	\$8,249.18
EISU8587260	A1528847	Alfalfa Supremi	52	22.471	\$395.00	\$8,876.05
EITU1790794	0668097	Alfalfa Supremi	52	22.054	\$395.00	\$8,711.33
EMCU1556706	0668098	Alfalfa Supremi	52	22.072	\$395.00	\$8,718.44
EMCU8326520	A1528901	Alfalfa Supremi	52	22.308	\$395.00	\$8,811.66
EMCU9944267	A1619056	Alfalfa Supremi	49	21.156	\$395.00	\$8,356.62
FFAU4874136	A1528908	Alfalfa Supremi	50	20.512	\$395.00	\$8,102.24
GAOU6247555	A1528409	Alfalfa Supremi	52	22.017	\$395.00	\$8,696.72
GAOU7281446	A1528844	Alfalfa Supremi	52	22.834	\$395.00	\$9,019.43
GCXU6543230	A1528843	Alfalfa Supremi	52	22.516	\$395.00	\$8,893.82
OCGU8042180	0668100	Alfalfa Supremi	50	22.108	\$395.00	\$8,732.66
TGBU4359437	722385	Alfalfa Supremi	51	22.698	\$395.00	\$8,965.71
TGBU6926376	A1619051	Alfalfa Supremi	52	22.725	\$395.00	\$8,976.38
TGBU6936543	722384	Alfalfa Supremi	52	21.900	\$395.00	\$8,650.50
TGBU6968134	A1619058	Alfalfa Supremi	52	22.852	\$395.00	\$9,026.54
TGBU9928006	A1528850	Alfalfa Supremi	52	21.972	\$395.00	\$8,678.94
TIIU4248303	A1528849	Alfalfa Supremi	52	21.763	\$395.00	\$8,596.39
THÙ 5458 120	A16190 <del>57</del>	Alfalfa Supremi	48	20.965	\$395.00	\$8,281.17
T1U631/1302 8	A1528842	Alfalfa Supremi	52	22.281	\$395.00	\$8,800.99
FLU4056370	0668099	Attalfa Supremi	50	21.147	\$395.00	\$8,353.06

Total Value:			1,535	657.105		\$259,556.46
TXGU8326310	A1619052	Alfalfa Supremi	52	22.743	\$395.00	\$8,983.48
TXGU8326305	A1620209	Alfalfa Supremi	52	22.253	\$395.00	\$8,789.93

Commodity	<b>Crude Protein</b>	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG







